N of reco track vs dxy(PV)

N of associated (recoToSim) tracks vs dxy(PV)

N of associated (recoToSim) looper tracks vs dxy(PV)

R ¢ ° 2
Q [*] o %
g g g g
5 = 5 z
E k] g
=
=1
o
i<} . e k=] =]
T : 3 s 3
o . 14 o o
0'—*45—20—15—10 -5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25
trac Y(PV){cm) . L track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
—— RYNVI_ 1+ O Blcll
— R n I
_ P —1170 lrl)’l
N of reco track vs  ———— D —11—n I by (PV)
] 1%} 2] 12}
s S ] ]
s g 8 8
= = H z
] 8 102 8
=
=3
=
10
=] ] Q Vo =]
K 3 s 3
o4 14 o4 14
0.6f--i=--1- Lo n
TR TN | T R T 0.95 | SO UUE DU SUUE DU SUNE DU DU T
-1-0.8-0.6-0.4-0.2 0 0.20.40.6 0.8 =1-0.8-0.6-04-02 0 02040608 1 -1-0.8-0.6-0.4-0.2 0 0.20.4 0.6 0.8
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (1ecoToSim) looper racks vs dz(PV) |
%] %] [4] ]
R g £ 2
[5} [} [=] [}
g g g 8
B 3 2 g
£ s 8
=
10 3
o v e e
T 3 T
: ||Ii|||||||||i|||||||||E|||||||||§||| i : ||Ii|||||||||E|||||||||i|||||||||§||| L
IR 0 S I
0930 20 0 30 30 —20 -10 0 10 20 30 0930 30 B0 =20 -10 0 10 20 30
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper racks vs dz(PV) |
2 L 2 2
] S S S
g g g 8
[ [} Q
£ s g
=
=]
o
=] e =] . . ] S
kS IS g : : : ] IS
o 14 o . . . 1 14
[l SR T I8 SRR L PR S 5§ [ T TR B Lt
0. L H 1 L L L 0. L L L o1 H L L L
-1 -0.5 0 0.5 0 0.5 1 -1 -0.5 0.5 -1 -0.5 0 0.5 1

track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)



	Contents
	Page 1


